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lll Semester B.Com. Examination, March/April 2023
(NEP) (2022-23 and Onwards) (Freshers)
COMMERCE
3.2.1 : Business Mathematics and Statistics

Time : 2%2 Hours Max. Marks : 60

1;

Instruction : Answer should be written either in English or Kannada.
SECTION - A

Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)

a) Out of debt of Rs. 60,000, Rs. 18,000 has been paid. What percent of
the debt still remains unpaid ?

b) Given Sl =540, r = 6%, n = 3 years, find principal amount.
c) Find the 4" proportion to 2, 8, 3, ?
d) Solve for x, 4x2 + 4 = 20.

e) What is positive correlation ?

f)y X =20.2, Med = 22.1 find Z.

g) If bxy = - 0.36, byx =— 1.38 obtain r.
h) CV = 40%, variance = 144, find X.

SECTION - B
Answer any three of the following questions. Each question carries
four marks. (3x4=12)
# .

2. 8 men or 16 boys can do a work in 39 days. In how many days will 4 men and

18 boys do it ?

. X-1 X-2 X-3
3. Simplif = :
e 14 i 21 7 _

4. In how many years will Rs. 4,000 amount to Rs. 4,500 at 3% p.a. Compound

interest ? -
5. Calculate the standard deviation :

Values : 73, 16, 10, 80, 90, 40, 15, 10, 60, 46.

P.T.O.
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6. You are given the following data :

Variable X Y
Mean 47 96
Variance 64 81
Correlation co-efficient

between X and Y 0.36

Calculate the regression equation X on Y.

SECTION -C

Answer any three of the following questions. Each question carries
twelve marks. (3x12=36)

7. a) In an examination a candidate who secures 25% of the maximum marks
fails by 60 marks. But another can who secure 42% of the maximum marks
gets 8 marks more than necessary for passing.

Find the maximum marks and the percentage necessary for passing.
b) Solve for x.
4x-2 2x-1 _ 4x-35

+
3X+2 5 10

8. a) 3x—[8 + {6 — (x — 10) + 3x} — (83x — 7)] — Solve.

3 4 -2
b) If A= 2 B= 2 C= N Find out 7A — 2B + 3C.
8 2 -2 9 6 8

9. a) Solve by Crammer’s rule.
2x+4y =8
5x -7 =3y
b) Calculate co-efficient of correlation for the following data.
Income (Rs.) 100 200 300 400 500 600

Weight (lbs) | 120 | 130 | 140 | 150 160 | 170

10. The following are the runs scored by two batsman A and B in ten innings.
A [101 |0 27 82 36 |[45 13 7 65 14
B (97 |40 12 13 |96 |8 8 85 56 15
a) Who is the better run getter ?

b) Who is more consistent batsman ?

11. Calculate rank correlation co-efficient from the following data.

X |70 80 65 78 68 65 82 65
Y |13 15 12 14 13 11 16 10
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TR U3
QTN =
IR THTTLR T UT-TINOT wUZ0R. T evz- T QTR 08, (6x2=12)

a) tr. 60,000 OB 18,000 3R, LoDTONIRNT. B T DR, FeFETTO
TR, WS LVVOT ?

b) =o¥ w& = 540, WA = 6%, N = 3 TRFNPTT, wﬁma’i FOTIEROWD.
C) 4 Se 0 RTORD ForOHLROWD 2, 8, 3, ?
d xa3 zﬁcﬁodazb FoWOZEBOWO 4X2 + 4 = 20.

e) E;SS ABROWOTG 0TTeRI ?

f) X =20.2, Med = 22.1, Z3> 3om%R000.

g) bxy =—0.36, byx = — 1.38 =33 r 302630200,

h) CV =40%, 238 = 144, X BomdEBO00.

QN - O

CCRFTIHTOR AT BIront wugon. F3 T3 Towy, @oBnD. (3x4=12)

2.

2030 i@ﬁd&b 8 NomID 9T 16 TOEONTO 39 QOINTY BEoTYT. ede é@mﬁm
4 noEID wrim 18 TBoNTL Fed AR, OITE, io:;doaad ?
X-1 X-2 X-3
+ = .
21 7
%), BRENIY T, 4,000 Spword, St 3 Tare 138 WRH TOFE. 8. 4,500
Shecialg

ROPEBOR

- TWREE QOB FoBLROWD.

Eb’aegs : 73, 16, 10, 80, 90, 40, 15, 10, 60, 46.
33on SN aﬁdr{@a{gt QEBERATS.

3 X Y
Xooxd 47 96
3 64 81
X SR Y ne Smoas
ATROWOT MOFB03 0.36

X 263 Y 3 &oBesadd ﬁmaﬁdwﬁa&i FOTOSHEOD.
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CBRTTHTIR ST JINert wugor. 3 Bt wRO® 308N, (3x12=36)
7. a) waeiodaq ﬁﬁmg ©woendd)  25% N9 e BFo30 60 @OBNTR, BHAIAY

10.

b

0 eEdF TOMITYS. =33 42% ﬁaa"% eﬁoﬁﬁqﬁ&q B VBRW, 93 QFOIN
YOSeEDF TAMED VNZZ0S 8 BOBNRYRY, BBV TEPTTS YLEerdF Toned NOR
208M%h TN BEFTTITY BT, FORZROWO.

b) X’ S WA
4x -2 +2><—‘I _ 4x-5
3x+2 5 10

a) 3x—[8 + {6 — (x — 10) + 3x} — (3x — 7)] w&~.

b) A= 6 3 B= B O i esz5on 7A — 2B + 3C 30R0&%B0W0.
8 2 -2 9 6 8

. 8) BT AODIII), GuTodeeNA R ETTEB), WA

2x+4y=8

5x -7 =3y
b) B3 BINS BSE&IC0T RBROLIOT NOTDOFRT, FOBIELRUWD.
&Tyood (SR.) 100 200 300 400 500 600
2503 (Ibs) 120 130 140 150 160 170

ab’é_g ROD 8 SRNYY. @ abda_o 0 S583MTD NOAT LtINTD B3 FPNT03I :
A |101 0 2f 82 36 45 13 7 65 14

B |97 40, (12 13 96 8 8 85 56 15

a) O3RTd BTN LENTSY nOTT ?
b) c3eTh e, E%:d 583000 ?

3 89N BT eed RBROWOT MOFITRT) FOBILACWD.

X |70 80 65 78 68 65 82 65

Y [13 15 2 14 13 1 16 10




